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Pre Calculus 1
Midterm Exam Review Package

The midterm exam will include everything that we have covered in
term 3. The topics covered include:

Unit 1: Chapter 3: Solving Quadratic Equations
Unit 2: Chapter 4: Analyzing Quadratic Functions
Unit 3: Chapter 5: Graphing Inequalities and Systems of Equations

Unit 4: Chapter 7 Rational Expressions and Equations

This package includes practice questions for all of these topics, as well
as some beautiful English vocabulary and key points to remember.
Once you complete all of this, try any questions in your textbook that
you have not completed! Happy Studying! ©
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CHAPTER 3

1. Solve the following equations '

a. 49x%-121y2 =0 d. 9x*+12x+4=0
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1. Describe all the transformations
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CHAPTER §

1. Represent the following inequality on a number line
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Solve the inequality
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4. Dralv the inequality
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5. Solve the system of equation
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2. Delermme an equation for the foll lowing graphs 3
a. Wme in general form.
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4. - What is the axis of symmetry of the following graph? Solve for A.0.S two different

vays.
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5. Word problem f

a. Two numbers have a sum of 20. Does the sum of their squares have a maximum

or a minimum value? Determine this value and the two numbers
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b. A student parking costs $20. At this price, 150 students will purchase passes. For

every $5 increase in price, 20 fewer students will purchase passes

1. What is the price of a parking pass that will maximize the revenue?
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6. Draw botl: inequalitics on the same graph. Use the graph to identify all the integer '),

solutions.
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7. Two numbers are related this way:
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Two times the first number subtract 5 is equal to the second number.
@The sum of the second number and the square of the first number is 115
Create a system of equations to represent this relationship.
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CHAPTER 7. ...

1. Slmphfywthe folrcm ing explessmhs and §late d” the non-permissible va]ues
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. 3. Word problems ‘ A . T e e
a. - A boat travels 4km upstream in the Same tme that it takes the 'boat to travel 10km -~
downstream. The average speed of the current is 3km/h. What is the average

A speed of the boat in still water? : ; : o
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@ b. Jenny can clean out the garage in Shours. When her son helps, they can clean out
the garage in 3 hours. How long would it take Jenny’s son to clean out the garage
on his own?
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Complete all homework in textbook and complete the review questions:
* Chapter 3 pg. 242-248 -

*  Chapter 4 pg. 330-338 _

Chapter 5 pg. 408-418

Chapter 7 pg. 606- 612
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Mid—Term Feview

Made by JohnYang & Johnny

| T oyl . Chanese Koreon
Factor EVE-&8 ol=Z o
Polynomial %35 X Cp&HAl
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Mid—Term Review
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